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B - hEo (BEE - BER) |l |2 AR e e 0o Tioo B ;
B - hmEE (EE - REK) |EE |[2F  |RE reeTe et o Tt e ;
B - hET (BEE - BER) |SVEE |2F  |RE e e 0o Tioo B ;
B - hET (BHE - BER) |l |2 |RBOE T et 0ae oo ey ;
B AET (BEE - EER) ek [2F |REE e ot T o Tioo B ;
B hET (BHE - BER) [l |2 [ SRER AT et 0ae oo ey ;
B kmT (K BER [nEk (2B [iREE e T T e B :
B kmT (BEE BER) [hEk 2B [iRED T e 0ae oo ey ;
B imT (K BER [nEk (2B [iREE ey e 0o Tioo B ;
B - kET (BEE - BER) |sEE  [2F [LemiE e e am e o B :
Er - AER GEE EER) i oE (tomiz i R A se oo e :
Ei hms (Ehn mEn) ek R R s et 0ae oo ey ;
gg;-;’iwﬁ (EMEE - BEE) skl (2B |0E ﬂﬁmﬁgz ijg R R ;
R -3 ‘ o . : 2350 [1OOMm 1 @Yt
(B - BEE) Skl [2F [ERnE B MBS Eam ERTIERISED ;




H#EY
VAN E*% L A p E3 =+ a4 L -’I_f‘gl‘l'} ) #}EI‘U -"_'J/%:I:il‘ U ﬂiﬁaﬁ AI
X4 i B R 12 £ B i By = ff%;* wm | s |mm| &
{ERT - JEERT GEMEER - FEERKR) |9k 28 |/MNEF INR EEE F 4[q 0.350 [100mM 1@mLY 4
{BFfF - JEEAT GGEMER - FBERKR) |9 EH 28 |/NEFE INR B E F 4[q 0.350 [100m 1[@ELY 4
{ERT - SEERT GEMEER - FEERKR) |9k 28 |/MNEF INRRRE SEE F 4[q 0.350 [100m1@mLY 4
{BFfF - JEEAT CGEMER - FBERKR) |9 EHE 28 |iahbREEE BR WBE (B HA5) F 4[q 0.350 [100m 1 @YY 4
{ERT - JEERAT GEMEER - FEERKR) |9k 28 |IbFEEE Lg% GRAIZE) F 4[q 0.350 [100m 1@ELY 4
{BFfF - JEEAT CGEMER - FBERKR) |9V EHE 28 |5E EEZENGYEY F 4[q 0.350 [100m 1@ELY 4
{ERT - LW GEMEER - FEERK) |9k 20 | BENE EHEHNE1 (WhEiEE) F 49 0.350 [100m 1@mLY 4
{BFF - JEEAT CGEMER - FBERKR) |9 EHE 20 |BENE E#sk2 (shkigHE) F 4[q 0.350 [100m 1[@ELY 4
{ERT - JEERAT GEMEER - FEERKR) |9k 2  |XETER KEHKE F 4[q 0.350 [100m 1@ELY 4
{BFF - JEEAT CGEMER - FBERKR) |9 EHE 28 |HEHA AAy JIRBEE F 4[q 0.350 [100m 1[@ELY 4
{EFT - SEmEAT (GEMERR - BEK) |9 KRR 20 [/MRF =EE (MR F 4[q 0.350 [100m 1 @) 4
{ERr - empr (GEERR - BEER) |9 EE 2R [#HE HER (FoeV&LE) F 4 [ 0.500 [100M 1 E%Y 4
{BFr - JEEAT GEMEER - FEERK) |9 k& 28  |HXHA SEEAT (NEEEING) F 4[q 0.500 [100mM 1@MLY 4
{BFfF - JEmEAT CGEMEER - FBERKR) |9V EH 28 |HEH SEEAT UMNERESR) F 4[q 0.500 [100m 1 @YY 4
{EFT - SEmEAT (GEMEPRR - BEEK) |9 KRR 20 |HEHE SEERT GBFRIERTNCE <) F 4[q 0.500 [100m 1@MLY 4
{BFfF - JEmEPT CGEMER - FERKR) |9 EH 28 |HEHA PEERT (BEAEER) F 4[q 0.500 [100m 1 @YY 4
{BFr - JEEAT GEMER - FEERK) |9k 28  |HEH HWC C/NBFRIA) F 40 4.340 [100mM 1@MLY 4
{BFfF - JEmEAT CGEMEER - FERKR) |9 EH 28 | XA WC NREIBRZEER) F 4[q 1.500 [100mt 1 @Y 4
{EFT - SEmEAT (GEMERR - BEK) |9 KRR 28  |HXH HWC (/MRFa<) £ 4 [H] 3.900 [100nf 1@ Y 4
{ERr - empr (GEMERR - FEER) |9 EE 20 |HHAB We1 UNREHEL - BF) £ 4 [9] 10.500 [100mf1 @Y 4
{EFT - SEmEAT (GEMERR - BEEK) |9 KRR 28  |HEH WC2 UNRESEL - &F) F 4[q 7.590 [100nf 1@ Y 4
{BFfF - JEmEAT CGEMEER - FERKR) |9 EH 28 |HEHA HWC CGipRESEIA <) F 4[q 4.570 [100m 1 @YY 4
{BFr - JEEAT GEMEER - FEERK) |9k 28  |HXH WC1 CFREBRIEL - BF) F 40 9.300 [100nf 1@ Y 4
{ERr - empr (GEMERR - BEER) |9 EE 20 |HHAB WC2 GRBFREBEHEL - &F) £ 4 [9] 8.770 [100mi 1@ Y 4
{EFr - SkmEPT (GEMERR - BEEKR) |9 KRR 20 |EHE & RWC (RF & 4 [A] 1.500 [100m 1[EZHY 4
{BFF - JEmEPT GGEYEER - FEEKR) |9 EH 28 |HEH BEAWC (5\F - ) F 4[q 1.500 [100m 1 @Y 4
{EFr - SkmEAT (GEMERR - BEEKR) |9 KRR 2R [XHE B 8 FAWC (IREEZERIT) & 4 [A] 2.140 |100m 1@ Y 4
{BFF - JEmEPT GGEMEER - FEEKR) |9 VEH 3k |HEH HWC & 2[q 4.530 [100mM 1 @EHY 2
{EFr - SkmEAT (GEMERR - BEEKR) |9 KRR 3 [XHE WC1 (B-F) 4 2 [[] 6.590 [100m 1@ Y 2
{BFF - JEmEPT GGEYEER - FEEKR) |9 EH 3k |HEH WC2 (%&F) 2 [q 7.350 [100nf 1 @Y 2
{Brfr - JEEAT GEMEER - FEERK) |Fmik 10 |HA WC1 #A 1.600 [100nf1 @YY 12
{EFT - EERT GGEMERR - lEEK) [ 10 | HEHAE WC2 #A 1.900 [100m 1 @Y 12
{BFfr - JEEAT GGEMEER - FEERK) |Fmik 10 |HA HWC #A 4.400 [100mi 1 @Y 12
{ERT - EERT GGEMERR - lEEK) [ 20 |2 201 £ 1[g 2.000 [100nf 1 @I Y 1
{Brfr - JEEAT GEMEER - FEERK) |Fmik 20 |2 202 £ 1[q 2.000 [100nf 1 @Y 1
{EFr - EERT GGEMERR - lEEK) [k 20 |2 217 £ 1[g 2.000 [100nf 1 @I Y 1
{Brfr - JEEAT GEMEER - FEEK) |Fmik 20 |2 218 £ 1[q 2.000 [100nf 1 @Y 1
{ERT - EERT GEMERR - lEEK) [k 280 |2 o —F— 3.368 [100nf 1@ Y 365
{BFF - kAT GG - FBERK) |mik 20 |2 HWC 4.500 [100ni 1 [E%HY) 730
{8 - JEmpr (GEMEER - FEER) [F& 3 [NICU WC2 E 2 [ 1.200 [100mf1 @Y 2
{BFfF - JEmEAT GGEMELR - FEEK) |Fmik 3 [NICU 5B FWC 4 2 [q 8.700 [100nf 1@ Y 2
R - JEmEPT GGEIEER - FEEKR) |FPiE 3 [NICU ZFNC & 2[g 12.400 [100mf1 @Y 2
{BFfF - JEmEAT GGEMELR - FEEK) |Fmik 3 |ERBEAR HWC F 4 [q 3.800 [100nf 1 @Y 4
R - JEmEPT GGEIEER - FEEKR) |Fmid 3k |EREAR B&EWC F 49 3.900 [100nf 1 @I Y 4
{BFfF - JEmEAT GEMELR - FEEK) |Fmik 3 |ERBEAR WC5 (BE{REEZE) F 4 [q 1.200 [100mi 1 @Y 4
{BFF - JEEPT GGEIEER - FEEKR) |Ftd 3k |EREAR WC4 (JLEZ=) F 4[q 1.300 [100mf1 @Y 4
{BFF - JEmEAT GEMELR - FEEK) |tk 3k |EHE WC6 F 4 [q 2.900 [100nf 1@ Y 4
BE (EMRK - FFEK) R AR B 1M [hRREFR us F 49 BERNEIR|ER (609) 4
BE (GEMR - FEERK) R B 1 |PREEH UsS F 4 [q BNERNEIF|ER (60%) 4
AE (EMERK - BEIRK) AR 10 |HHAH ZFERZEUS] RRAER) F 49 BENER|ER (609) 4




B
ZN\ E*@ L = 1 = =3 B4 4L ":f‘%l‘ l’J > #}EI‘ "J "'_fﬁl‘ U EFEE] AT
X4 i s 2] E% 12 2 Fh B EiE By = ff%;* wm | s |mm| &
AE (MK - EEK) AR 10 |HFE BIEREUS (HKREER) £ 4 [H BENEREC B (6 09) 4
AE (EMERK - BEIRK) JRIR 2fE  [FM=E BFEREUS (HREES) F 4 [H] BENERES BT (6 09) 4
BE (MK - EEK) AR 20 |FiE BFEREUS (HEEES) F 4 BENBEREC B (6 09) 4
AE (EMERK - BEIRK) R 3 | 3miE 311 (BRANCE) F 4 [ AERERST B (6 09) 4
AE (MK - EEK) AR 3 | 3FEHE BE (REKEEE) F 4[q AEREREC (B (120%) 4
AE (EMERK - BEIRK) R 4B |[45FE& 410 (BrRA&WCE) F 4 [ AERERST B (6 09) 4
BE (MK - EEK) AR 4%  |4%EE BE (REKEES) F 4[q BRERERESC 4
AE (EMERK - BEIRK) R 5 |5HAE 510 (BRA&WCE) F 4 [ AERERST B (6 09) 4
BE (MK - EEK) AR 5 |5FE#E BE (REKEEE) e AEREREC (B (120%) 4
BE (MR - BEEIK) R 6fE |6 BE (RAREES) 4 4 [[] RERERET (B (120%) 4
BE (GEMRK - BEK) R 70 | 7EE BE (RAREES) 4 4 [[] AEREREC (B (120%) 4
AE (EMERK - BEIRK) AT 35 B1RE [U/NEY KAEE F 1 AERERET B (6 09) 1
BE GEMEER - BEEKR) y\ e tE B 10 [XFH BFEREUS (HKREER) & 4 [ AERERSS BT (6 04) 4
AE (EMERK - BEIRK) AT 35 B 1 [#*FH EFEREUS (REEESR) & 4[| AERERET B (609) 4
BE (GEMRK - BEK) S35 10 [hRREFR US (2=w kv —) F 4 BERERSC B (6 09) 4
AE (EMERK - BEIRK) AT 35 3 [#HE BE F 4 [ AERERET B (609) 4
BNE GEMER - BEIKR) e 10 |HEFE ZFERES (BREES) F 4 BEREREC B (6 09) 4
AE (EMERK - BEIRK) ks 20 | 2%mE 203 (BR#WCE) 4 4 [[] AERERET | (609) 4
BE (GEMRK - BEK) B 2 |2 204 (BRKWCE) F 4[q AEREREST B (6 09) 4
AE (EMERK - BEIRK) ks 2fE | 2%mE 205 (BRZWCE) 4 4 [[] AERERET | (6 09) 4
BE (GEMRK - BEK) B 2 |2 206 (BRKWCE) F 4[q AEREREST B (6 09) 4
AE (EMERK - BEIRK) ks 2fE | 2%mE 207 (BREWCE) 4 4 [[] AEREREST | (6 09) 4
BE (GEMRK - BEK) B 2 |2 208 (BRKWCE) F 4[q AEREREST B (6 09) 4
AE (HEMERK - BEIRK) ks 2fE | 2%mE 209 (BREWCE) 4 4 [[] AERERET | (6 09) 4
BE (GEMRKR - BERK) B 2 |2 210 (BR&WCE) 4 4 [[] AERERST |EF (6 09) 4
AE (EMERK - BEIRK) ks 20 | 2%mE 211 (BR&KWCE) 4 4 [[] BENERES BT (6 09) 4
BE (GEMRKR - BER) B 2 |2 212 (BR&WCE) 4 4 [[] AERERST |EHFT (6 09)) 4
AE (EMERK - BEIK) ks 20 | 2%mE 213 (BR&KWCE) 4 4 [[] BENERESC BT (6 09) 4
BE (GEMRKR - BERK) B 2 |2 214 (BR&WCE) 4 4 [[] AERERST |EHFT (6 09) 4
AE (EMERK - BEIK) ks 20 | 2%mE 215 (BR&KWCE) 4 4 [[] BENERES |EAT (6 09) 4
BE (GEMRKR - BER) B 2 |2 216 (BR&WCE) 4 4 [[] AERERST |EHFT (6 09)) 4
AE (EMERK - BEIRK) ks 2 | 2¥FHE BE - PEKREA E 4 [ BENERESC BT (6 09) 4
BE (GEMRKR - BER) B 2 | 2FHE BE - PRARE2 4 4 [[] AERERST |EHFT (6 09) 4
AE (EMERK - BEIRK) ks 3 [NICU EffREEE (USE&T) E 4 [ BENERES |EAT (6 09) 4
BT (RkHMER) s 28  |EEE BT (£707— - BHEES) ) F 2 68. 140 [100ni 1 @14 Y) 2
BT (GEEER - BEEFR) et B 1FE |PREEFR LIS F 1@ 24.400 [100mf 1 @Y 1
ERT (GEMEEK - FEEK) s B 1 |PREEH GIEN £ 1[q 8.900 [100nf 1 @Y 1
ERT (GEMEK - BEK) R B1M [PRREFR BIZE 2 & 1[q 6.200 [100nf 1 @4 Y) 1
BT (G - BEEIR) fRAR B1M [XEEEHR SEEFIE N 6.600 [100nf 1@ Y 0
BT GGEMEK - EK) AR B1M [XEEEH FoREZERAIZE N 12.400 [100nmf1 @Y 0
ERT (GEMEEK - BEK) e B 1M XA BF (£707—) £ 1[q 183.200 [100m 1 [EXY 1
BT GGEMEK - EK) AR 10 |NREE NIREZEAIZE & 2[q 25.100 [100mf 1 @Y 2
ERF (GEERR - BBEK) R IR 1R Eadat BT (£707—) #A 214.000 (100 1@ Y 12
BT GGEMEK - EK) AR 10 |HE BT (£707—) #A 235.890 [100mf 1 @Y 12
ERT (GEMERK - BEK) e 28 | HEHA BF (£7207—) 4 2 [q 253.360 [100mi 1 @ %Y 2
BT GEMEK - FEK) Pty 3 | 3mEE BT (£707—) F 4[q 380. 300 [100mi 1 [E2%4 ) 4
ERT (GEMEEK - BEK) e 4F  |4%EE BT (£707—) F 4 [q 380. 300 [100mi 1 @) 4
BT GGEMEK - BEK) Pty 408  |4REE BT (£707—) F 49 380. 300 [100mi 1 @24 L) 4
ERT (GEMERK - FEEK) s 58 |5& BT (£7207—) F 4 [q 380. 300 [100mi 1 @) 4
BT GEMEK - BEK) Pty 58 |5 BT (£7207—) F 49 380. 300 [100mi 1 @24 L) 4
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BT (GEMEER - FEEK) AR 6 [6FE BT (£7287—) 4 4 [ 380.300 [100mf 1 @Y 4
BT (GETEER - BEEFR) R 6 |6JFEE BT (£707—) F 4[q 380. 300 [100mf 1 @Y 4
BT (GEMEER - FEEK) AR 7R [ 7FE&E BT (£7287—) 4 4 A 380.300 [100nf 1 @Y 4
BT (FEMEER - FEEKR) R 78 | 7R BF (£72087—) F 4 [q] 380. 300 [100nt 1 @Y 4
BT (GEMEER - FEEK) UE I B1k |EF HIZE 1 & 2[g 6.900 [100nf 1 @I Y 2
BT (GETEER - BEEFR) T35 B1M [EH BIZE 2 E 2 [ 4.500 [100m 1 @YY 2
BT (GEMEER - FEEK) UE I B1k |EF HIZE 3 & 2[q 4.600 [100mM1@MLY 2
BT (GETEER - BEEFR) T35 B 1k |&XH TFEKAE £ 1 2.800 [100nf 1@ Y 1
BT (GEMEER - FEEK) UE I B 1R |XH BT (£7287—) 4 2 [ 229.080 [100mf 1 @Y 2
BT (GETEER - BEEFR) HUE35 B 1k |XH BT (£707—) & 2[q 63.690 [100nf 1 @Y 2
BT (GGEMEER - FEEK) A3 108 [hRREFR HEERE 4 2 [ 3.200 [100nf 1@ Y 2
BT (FEEER - FEEEKR) e 3 2 (XA BF (£7287—) #A 518.900 [100nt 1 @Y 12
BT (GEEEK - BEEIR) S35 20 |HEHE BF (&272a7—) #H 335.910 [100m 1 @MY 12
BT (FEMEER - FEEER) e 3 3k (XA BT (£7287—) 4 2 [[] 173.800 [100m 1 @MYL Y 2
ER T (BEMEER - FEEK) B I AIZEl (BKE) 4 2 [ 2.800 [100nf 1 @4 Y 2
ER T (BEMEER - FEEK) ik 2 |2 eI GIED) & 1[q 7.756 [100mi 1 @124 L) 1
BT (GEEEK - BEEIK) B 2 |2 BT (&2707—) #H 256. 800 [100m 1 @MY 12
BT (FEEER - FEEEKR) [EaLsd 28 |HEA EYEBT (FH) #A 69. 300 [100nf 1 @I L) 12
BT (GEMEEK - EEEIK) B 3 [NICU BIE1 & 2[q 13.500 [100mf1 @Y 2
BR T (GEERK - BBEIK) ks 3 [NICU CIEY F 2 [ 13.422 1001 @Y 2
BT (GEEEK - BEEIK) B 3 [NICU FIEX] & 2[q 22.736 [100m 1 @Y 2
ER T (GEEK - BBEIK) ks 3 [NICU EVik- )V Bl = F 2 [ 10. 400 [100nd 1 @Y 2
BT (GEMEEK - EEEIK) B 3 [NICU NICURII =1 & 2[q 15.600 [100mf1 @Y 2
BR T (GEERK - BBEIK) ks 3 [NICU NICURII =2 F 2 [ 7.040 [100mi 1 @& Y 2
ER T (BEMEER - FEEK) [Eats 3k [H#A EYBERT (Bt #A 143.100 [100mM 1[@MLY 12
BT (GEMEER - FEEER) [EaEs ;] BT (£787—) #A 275.000 [100nf 1 @Y 12
21,677 188




